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However, a live person carries himself — TAXY NN KRNI 7 27X PaN

OVERVIEW

X217 stated that regarding a person, the o201 agree with 101 " that a live person
carries himself, so therefore if one carries out a live person he is not nXvr 21, Our
MvoIN reconciles our X3 with other seemingly contradictory nina.

Mmoon asks:
= DTN 29 99T YNV (3,xn9 97 mpb) YOI YWIYAT NN

It is astounding! For in the beginning of %11 7o it seems that 1n1 ' and the 7327
argue even concerning a person, not like X271 states here that the 1137 agree with 1"

regarding a person -
- 719 N2 1) %295 N3 PINN 23) 19NDT
For the X713 there states regarding a »15n, that X29 agrees with 1''9, that he is Mo

for carrying out the ?11°n; however here X2 ruled that by a person all agree (even the 7127) that he
1S MWD, since 1AXY NR XY OTR?!

nBoIN answers:
= YY) VIIVYNT 2T NNNAI JOPT ONHAN 12 PIVNIY 11729 IIN)Y

And the X"2w9 answered that a small child is like a 7772 in this regard that he

slumps himself (and weighs) down just like a 7773, therefore he is Mo only according to 1",
but not according to the 1127.

nvoN asks:
— 398032 9IY N DNNA PN NOIN (3,057 97 0w) 1IDN PIDAT Y YD TN

However we still have a difficulty for in 5192 P99 the Xn»932 teaches, ‘one is
permitted to help walk domesticated and non-domesticated animals as well as

fowl, in a courtyard -
= £390 MY NI NN DT HYNNI D290 MYWHA XD DaN

But not in a public domain, however a woman may help her child walk in a

2'""579. This concludes the Xn*12 -
= NIND 19 NIN*2N NIY NY ©290 MY NnNaY 49‘1\?)1173 onn vy

And >"wn there explains the difference between animals and a child, that one is

! X321 ruled there that one is not liable for carrying out a 1°n (an infant/young child). See end of this mooin.
2 See footnote # 5.
3 In a 737 it can never come to an XN»MRT MOX of carrying, for the 7¥M is a n"n >0,
4 xoopnT n"a.
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not permitted to be 777 an animal in the 9'""79, out of concern that perhaps he

will pick it up off the ground so he will be carrying nx '7 in the 7" -
— 22199 1N 2297 12293 NNPNDIY

And this X072 which was written anonymously presumably follows the 3229 who

argue with 1'% and maintains that one is liable for carrying an animal, therefore he may
not even be 7777 in the 7" -
= 18y NN XY ONT 1939 1799 OTRI NN %D NN 90 ON N1 DaN

However the woman may be 77772 her son, for even if she picks him up there will

be no 211, for by a person the 3229 admit to 1"7 that a s is Y23y DX XL This
concludes >"wa». This is in contradiction to what m901n previously answered that the o°2on are
77 to 1" only by a grown person but not by a 71’n,> however (according to >"w1) the X3 in
7197 P9 states that there is no 21°17 if @ mother picks up her child!!

[m»oin offers a possible solution:
(11395 12 913902 99N Y1 P97 NIND NNIYI]

And perhaps that X3 in v pa5 where it states that by a p11°n the o°non do not

agree with 1" (and maintain ¥y nX X1 1PX) that is discussing a day old infant;
only in that case do the o°»om argue with 1", however by an older child (like the case in 79
1197) they will also agree that ¥y X X1 m.]

SUMMARY
The 71127 (presumably) maintain that by animals and very young infants we do not
say ¥y nX XwM1 1, however by older children and certainly adults we do say °nm
XY DR K1

THINKING IT OVER

Why was it necessary for mooin to cite *"wId in 77197 P79 in order to show the
contradiction between 011 P19 and 1191 P19 and our X723, could we have
interpreted the X713 in 7°197 so there would be no contradiction?!

3 See (text by) footnote # 2.
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